

a) $\langle \hat{U}\alpha | \hat{U}\beta \rangle = \langle \hat{U}^\dagger \hat{U}\alpha | \beta \rangle = \langle \alpha | \beta \rangle$

b) *eigenvalue equation* $\hat{U}|\alpha\rangle = \lambda|\alpha\rangle \Rightarrow \langle \hat{U}\alpha | \hat{U}\alpha \rangle = \langle \hat{U}^\dagger \hat{U}\alpha | \alpha \rangle = \langle \alpha | \alpha \rangle = \langle \lambda^* \alpha | \lambda \alpha \rangle = |\lambda|^2 \langle \alpha | \alpha \rangle = |\lambda|^2$

which implies $|\lambda|^2 = 1$, or: the modulus of the eigenvalues must always be 1 for a unitary transformation

c) *suppose* $\hat{U}|\alpha\rangle = \lambda|\alpha\rangle$
 and $\hat{U}|\beta\rangle = u|\beta\rangle$

Then, $\langle \beta | \hat{U} | \alpha \rangle = \lambda \langle \beta | \alpha \rangle$
 but also $\langle \hat{U}^\dagger \beta | \alpha \rangle = \frac{1}{u} \langle \beta | \alpha \rangle$

$(\langle \hat{U}^\dagger \beta |)^T = \hat{U}^\dagger | \beta \rangle$

$|\beta\rangle = \hat{U}^\dagger \hat{U} |\beta\rangle = \hat{U}^\dagger u |\beta\rangle$
 $\hat{U}^\dagger |\beta\rangle = \frac{1}{u} |\beta\rangle$

We have $|\lambda|^2 = |u|^2 = 1$

thus $|\lambda|^2 \hat{U}^\dagger |\beta\rangle = u^* |\beta\rangle$

$u^* |\beta\rangle = \hat{U}^\dagger |\beta\rangle$

$\langle \hat{U}^\dagger \beta | = \hat{U} \langle \beta |$

Then $\hat{U}^\dagger |\beta\rangle = u^* |\beta\rangle$ ~~implies that $\langle \hat{U}^\dagger \beta | = \langle \beta |$~~

But then $\langle \beta | \hat{U} \alpha \rangle = \lambda \langle \beta | \alpha \rangle = \langle \hat{U}^\dagger \beta | \alpha \rangle = u \langle \beta | \alpha \rangle$

$u \langle \beta | \alpha \rangle = \lambda \langle \beta | \alpha \rangle$

$(u - \lambda) \langle \beta | \alpha \rangle = 0$

$u - \lambda = 0 \vee \langle \beta | \alpha \rangle = 0$

if $u \neq \lambda$, this implies $\langle \beta | \alpha \rangle = 0 \Rightarrow \beta$ and α are orthogonal